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solution of calcium chioride at 25°C. The specific conductance of

caicium chlonde is 12.04 x 102 sm™. 3
b) State Kohiraush's law. 2
(OR)

c) How will you prepare phenol from
i) Cumene 3

ii) Halo arenes

. a) Explain the following reaction.

i) Stephen’s reaction | 2
ii) Etard reaction ' 2
iii) Benzoin condensation 1
(OR) '

b) An alkene (A) on ozonclysis gives propsiiunc aid aldehvze
(B). When (B) is cxidised (C) 15 cbtainec. (C) is treatec with
Br,/P gives (I2) whick ou iiydrolysis gives (E). When
prcpanone is treated witn HCN fclloviec' by hydiolysis gives
(E). ldentify A, B, C, D end E.
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Second Mid-Term Test - 2019

Time : 1.30 hrs. CHEMIST.RY Max. Marks : 50
PART - 1|
Choose the correct answer. 10x1=10

Conjugate base for Bronted acids H,0 and HF are

a) OH-and H,FH", respectively b) HBO'* and F- respectively
c) OH-and F- respectively d) H,0" and H,F* respectively
The pH of 10 M KOH solution will be

a)9 b)5 c)19 'd) none of these

Which of these is not iik:ely to act as Lewis base?

a) BF, b) PF, ¢) CO d) F~ ¢
Whi'e charging leac stcrage Lattery

a) FuL30, on cathoce is reduced to Po

b) PoSO, nn anode is cxidised to PbO,

z) PESO, ori anode is reeducec to Pb

d) PbSC, oa cathoce is oxidised to Fd

Among the following cells

I) Leclanche cell

II) Nickel - cadmium cell

lIl) Lead storage battery

IV) Mercury cell

Primary cells are

a)land IV b)land lll c)llland IV d)lland Il

Assertion : Pure iron when heated in dry air is converted with
a layer of rust.

Reason : Rust has the composition Fe,0,
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zsseton 2nd reason sre true 2nd reason is the

00T 283£7an and reason ars truse put it is not comrect

c L Cng .-
- |y - - Q% £ rom s - -~ ~ - el
a) SN reaciion b) SN reaction c) electrophilic addition
- oo - ~ = e e
) %€ CUODNIC SURCSERL0
H Q)
. , HS0,
z AC =CF —= s '
- - e - Rl LA ar o o s - = LIRY - - ,
the fcllowing reaclio A . Tre product

X will not give 3) Tollen's Tzsi D) Vicior lAever test ¢) lcdoform
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Tollens reagent b) Fehling’s solution ¢} 2, 4—dlmtrophf=n,1

PART - I

Anwwer zrry five questions. Question No.16is compulsory.
5x2=10

P, {
Nzt w cornmon ion effect? Give an exampie.

ey A rrent o used instead of DC in measuring the

-
electroiyc conductance?
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Give the uses of diethyl ether.

. What will be the product (X and A) for the following reaction

(1)CH;MgBr acid K,Cr.0,
: X 2T 3 A
Acetyichloride ([H,0° 2 p

. How will you prepare Malachitegreen from benzaldehyde.
. What is Schiff's reagent?

PART -1l
Answer any five questions. Q.No.23 is compulsory.
5x3=15

. Calculate the pH of 1.5 x 10-* M soltuion of Ba(OH),.

VWhat is Buffer solution? Give its types with examnles,

State Faraday’s laws o’ electrolysis.

Why do=s cunductivity of i1 solutich decrease on Silution of
ihe so(ut’on.

A copper cicciuode diped in 0.1 M Copper sulphate solution
at 25°C. Calculatz the electrode potential of copper.

E% .71 Cu=0.34]

s

. Explain i{cive’s reaction.
. What is urotropine? How it is prepared? Give its use.
. Explain the mechanism of cannizaro reaction.

PART - IV
Answer all the questions. 3x5=15
a) Derive Henderson - Hasselbalch equation 3
b) Define Buffer index. 2
(OR)
c) Derive an expression for Nemnst equation 5
a) Calculate the molar conductance of 0.025 M aqueous
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